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constituency seats because it came first in each constituency. Second, because Party A wins 
60 percent of the party list vote, it wins 60 percent of the five seats allocated in the national 
tier, that is, three seats. As a result, Party A wins eight seats altogether. Party B wins two 
seats—it gets no constituency seats, but it gets 40 percent of the five party list seats in the 
national tier, or two seats.

Dependent Mixed Electoral Systems

A dependent mixed system, often referred to as a mixed member proportional system, is one in 
which the application of the proportional formula is dependent on the distribution of seats or 
votes produced by the majoritarian formula. In these systems, the proportional component of 
the electoral system is used to compensate for any disproportionality produced by the majoritar-
ian formula at the constituency level. New Zealand used a dependent mixed system with two 
electoral tiers for its 2020 elections. Seventy-two legislators were elected using a majoritarian 
SMDP system in single-member districts, and forty-eight legislators were elected using a closed 
list proportional system in a single district at the national level. In most dependent mixed sys-
tems, such as the one used in New Zealand, individuals have two votes. The first vote is cast for 
a representative at the constituency level (candidate vote) and the second vote is cast for a party 
list in a higher electoral tier (party vote). These types of mixed dependent systems allow indi-
viduals to give their first vote to a constituency candidate from one party and their second vote 
to a different party if they wish. This is called split-ticket voting. Figure 12.7 shows a sample 
ballot used in New Zealand.

Table 12.12 illustrates how votes are translated into seats in a dependent mixed system with 
two electoral tiers. Two parties, A and B, are competing over ten seats. This example is identical 
to the one shown in Table 12.11 except that our mixed system is now dependent. The first thing 
that happens is that each party receives legislative seats in proportion to the total number of votes 
it obtained nationally. Party A won 60 percent of the vote overall and so receives 60 percent of 
the seats; that is, six seats. Since Party B won 40 percent of the vote overall, it receives 40 percent 
of the seats; that is, four seats. Once we know the total number of seats that go to each party, we 
then determine whether they’ll be constituency seats or party list seats. We do this by looking to 
see how many constituencies each party won. As Party A won all five constituency seats, its six 
seats will comprise five constituency seats and one party list seat. Because Party B didn’t win any 
constituency seats, its four seats comprise only party list seats. In effect, the party list portion of 
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Party A 3,000 3,000 3,000 3,000 3,000 15,000 60 5 3 8

Party B 2,000 2,000 2,000 2,000 2,000 10,000 40 0 2 2

Total 5,000 5,000 5,000 5,000 5,000 25,000 100 5 5 10

TABLE 12.11 ■    Translating Votes into Seats in an Independent Mixed Electoral 

System




